

Prosent solutions to WS 2-2, 6,7,8.

Rules for working with limits. Limits before well with a number of common operations:  $\begin{array}{cccc} \lim_{x \to a} f(x) = L & \lim_{x \to a} f(x) = M, & e - gg. \\ \end{array}$ Then  $\lim_{x \to a} (f(x) + g(x)) = L + M = (\lim_{x \to a} f(x)) + (\lim_{x \to a} g(x))$  $\lim_{x \to \infty} f(x) - g(x) = L - M$ LOA lim f4) 5(4) = LM Division is the only intersting one. Stry find.

Two more:

 $\lim_{x \to a} c = c , ay c \in \mathbb{R}$   $\lim_{x \to a} x = a .$   $\lim_{x \to a} x = a .$ 

The rules are intuitive!

 $\lim_{x \to -2} x_1^2 = \lim_{x \to -2} x_2^2 + \lim_{x \to -2} x_2 + \lim_{x \to -2} 3$ x-sa x-sa +-20 XOA  $= \left( \lim_{x \to a} \frac{1}{x} \right) \left( \lim_{x \to a} \frac{1}{x} \right) + \lim_{x \to a} \frac{1}{x \to a} \left( \frac{1}{x} \right) \left( \lim_{x \to a} \frac{1}{x} \right) + \lim_{x \to a} \frac{1}{x \to a} \left( \frac{1}{x} \right) \left( \lim_{x \to a} \frac{1}{x} \right) + \lim_{x \to a} \frac{1}{x \to a} \left( \lim_{x \to a} \frac{1}{x} \right) \left( \lim_{x \to a} \frac{1}{x} \right) + \lim_{x \to a} \frac{1}{x \to a} \left( \lim_{x \to a} \frac{1}{x} \right) \left( \lim_{x \to a} \frac{1}{x} \right) + \lim_{x \to a} \frac{1}{x \to a} \left( \lim_{x \to a} \frac{1}{x} \right) \left( \lim_{x \to a} \frac{1}{x} \right) = \frac{1}{x}$ 

 $= a \cdot a + (-2) \cdot a + 3$ 

 $= a^2 - 2a + 3$ 

i.e. just substitute x = a!I'll say f(x) has the Direct Substitution Property at a ref live f(x) = f(a).

Fran lunt rules, every polynomial has the direct substitution property at every produt is its domain.

Similarly:  $\lim_{K \to u} x \bar{u} = q \bar{u}$  at any point in the lower.

Those limits are boring. We wouldn't need the limit concept if this was all there is to it. But its good to know the boring staff so you an focus on the interesting studk.

Division is subtle.  $\lim_{x \to a} f(x) = \lim_{x \to a} \lim_{x \to a} g(x) = \mathcal{M}$  $\lim_{k \to n} \frac{f(k)}{g(x)} = \frac{L}{M} \quad \text{so long as } M \neq 0$ e.g.  $\lim_{x \to 2} \frac{1-2x}{3x^2+1} = \frac{\lim_{x \to 2} 1-2x}{\lim_{x \to 2} 2} = \frac{1-4}{3\cdot4+1} = \frac{-3}{13}$   $\lim_{x \to 2} \frac{3\cdot4+1}{3x^2+1} = \frac{1-3}{13}$ Direct salsstitution works for introval functions!

If L=O and M=O, often the one-sided limits one ±00. You need to to a sign analysis

 $\frac{5}{\rho^+}$  => +  $\infty$ , etc. For 0, more work! (This is often where all the fun is)

Key tools:

